Honors Math 3 HW 1-1 Name
solve each linear equation. MUST SHOW WORK ON NOTEBOOK PAPER!
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For each question, define your variables, write a system of equations, and solve using any
method. Please use a separate sheet of paper to show all work.

1. The length of a rectangle is 3 cm more than twice the width. The perimeter of the

rectangle is 42 cm. Find the dimensions of the rectangV} 2 (Ly>
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. Suppose you have $200 in your account and you save $10 ch week. Your friend

has $110 in their account and starts saving $15 each week. When will your account
balances be the same? 2 00x10%x= 101154
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Absolute Value Fl

~__ Graphthe following absolute value functions. Identify the vertex as well as the domain

of each function. > | —_—
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Directions: Solve each inequality L
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Homework

Piecewise Func_i_.ons _f

Evaluate the function for the given value of x.
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Homework

Irhtroductlon to Inverse Func
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